1. Alfa= V8 b=2+ V2, c=32 d4 IAE YehH?

D a<b<c @ a<c<b ® c<a<b

@ c<b<a ® b<a<c



e G a=4-Vi,b=2,c=4- V89 i BARE &
227

D a<b<c @ a<c<b ® b<a<c

@ b<c<a B c<a<b



0

S YA AHZEABCD = gt
o] Zol7} 1 Q1 AAZrP ol A
P o &3l 71 5 - 3v2 |1
C=AQ, DB=BP Y, A4 Qo

D 5-+2 @ 5-22
@ 4-2+2 ® 3-2+2

D
\\\Q/,

A

® 4-12



ok 17ol4 ABCD = g #9] Zol7h 191 3Azhdol L, AC = AP

olck. A B ol -gct= 7t 2+ v2 & o, A P ol -85t 47t
a+bV2olth a+b ] gt Fotoiet,




VE- V6 VI- VT
NG - N =aV3+b

a+b o 327

V10 € i, §214 a, b ol tHote

17
D -3 @0 ® — @ — ® =



= ‘/54-‘/7’ _ W—\/quyx+y+x—y§

Y 7 VAR kol

YEE
=%






® 4 ® 2 ® 10

@ 5

@D 2



0. o219, 424 o g Patol

Be
"



10. x+y=3, (x+3)(y+3) =21 & o, x? + xy +y* o] S Fatoiet

>R
=%



11, o1& 24 P o] HEE q
FEEEEVEEE
@~ b? 9] k& Fotolet.

YER
-




N

o a? -0
b? o s T
& ool



13. x®y—y—2+42x% 9] 157} ofd A2

D x-1 @ x+1 B x2-1

@ y-2 ® y+2



14. o A2 A5Esfstolet,
3a® — 3b% — 8ab + 5bc + 15ac

YEE
=%




15, 2 +3x=5 << W, x(x + 1)(x+2)(x+ 3) -3 o] g2

D 21 ® 32 A 60 @ 96 B 140



16.

o) & Fofolet

Q-



17.

VIS+3H Vi5-2F5 2554, 2Vi3V2-1%

S, b-a 9 F& FoHH?

@D 4 ® 2 3 0

A}
A



18.

27T
o
—C?

Al

A~

D a-b>0
@ ab>0

T AL ab7ta=V8-3,b=-
%

@ b-a<0

® a+1>0

Vi+ V84 o, o3 &

@ b+ V7>3



19. a-b=V3+2LA W, a2 +b%-2ab—4a+ 4b+4 O] FL?

D 1 ® 2 3 3 @ 4 B 5






